LRALIBREER D# i EIRIZRE T S0 8% A X L FRALIE LS
TRE 29 FE

1 £ACLDEABHREBUERE
FEET] A 4 5 6 7 8 9 10 | 11 12 1 2 3 || £FEat
",:‘.‘ 914 870 930 917 894 1,004 900 903| 1,011 771 732 914 10,760
EEL’W t 2,591.97(2,460.11]2,575.10|2,632.22|2,468.23|2,934.04|2,563.24|2,564.64| 3,028.74|2,185.29]| 2,034.28| 2,581.85|| 30,619.71
*’%ﬂ:*ﬁtﬁ :J=' ",:‘.‘ 244 269 355 267 330 191 322 257 137 239 238 261 3,110
! =348 t 697.27| 805.93]|1,021.54| 787.70] 960.98| 553.91| 970.29| 745.37| 375.27| 716.40| 723.87| 746.29|| 9,104.82
= é." 1,158] 1,139| 1,285| 1,184| 1,224 1,195 1,222 1,160 1,148] 1,010 970 1,175 13,870
ﬁ+ t 3,289.24|3,266.04|3,596.64|3,419.92]3,429.21|3,487.95(3,533.53|3,310.01]3,404.01(2,901.69(2,758.15(3,328.14]| 39,724.53

2 WFRIKKESHIER

(BRAIE)
[ STEDNZ | Bfy | ZEB |48 |58 | 6H | 78 [ 8A | OA [10A|11A[12A] 1A | 2H | 38
KFRAFRE|pH 58~86] 69| 69] 68 67 67 66] 67 6.6 70 72[ 70[ 7.0

EPEHBRRERE|mg/L 20LLF 57 30| 24 78] 160 6.7 13:0 9.1 9.1 6.0 11 49

EEHBEERE|mg/L 1604 28 33 34 31 42 39 38 54 38 32 19 24

FHEYESE |mg/L J0LLTF 20 11 5 9 14 4 4 5 11 37 g 14
B AA > Img/L - 220 66| 120 100o[ t1o00[ 170 120 120 220[ 220 71[ 90
BERIEEE [ms/m 240 190] 200[ 170[ 200 170 180 190 240 200] 190 210

KiEEEEER |{8/cm J3000LLF 0 0 0 0 0 0 0 0 0 0 0 0
EF2H= |me/L - 180 180 160 150 120 150 120] 200[ 280 230] 160] 220

BEE=E  |me/L - 1.80] 0.85] 0.44] 0.72[ 1.10] 1.70[ 0.73] 0.22] 1.00] 3.50] 0.51] 1.20
BE E | - 70| 54| 54| 58] 74| 54 53] 50 81| 120] 48] 50
Y B 48258 |5 98 |6 H6B|7A4B|8A18|9A58|10A38|11A7E|12A58|1A9B|2A6H|3898

3 MK ZEBE DR (BRKKESFICMATTRIEBZ2HT)
(F2ERFE 7. 18

SEONR | By | BEE |48 |5A | 6A |78 |88 | 94 [10A|118|12A| 18 | 28 | 38
iR EA A E|mg/L 30LLF - - -[1Ri# - - - - -1 - -
ToEZTHER|mg/L - - - -1 130 - - - - -1 210 - -
FHEREER]|me/L - - - -| 6.10 - - - - -| 0.08 - -

EEBEER |me/L - - - -1 0.80 — — — = - 2.20 - -
TUEZT.TVECTIEE
w. EREIL AR |ma/L - -l - - 110f - - - - -| 8| -] -

UTERIESY
7x/—)LFE |mg/L 5LUF - - s LAES: - - - - —| 01K = =
[ BREEE |me/L 3L - - —Tootkm - - - - —lootk — —

HISEE |me/L 2T - - - 0.02 — — — — -| 0.03 - -
BEMEEESEZE|me/L 10LLF - — -| 0.07 - - - - -1 0.10 - -
s vaEE|meg/L 10LLT - - -1 0.05 - - - - —loo1%is - -
YOLEFRE [meg/L 2L - - “looxm - - - - “looixm - -
AR MEAM|mg/L  |0.03LLF - - —| 0.00ax - - - - —| 0.0035% - -
7 MAEEY [me/L 1T - - ~lo1ki# - - - - mRES — —
ARBEEY|me/L 1R - - —[o1ki# - - - - —[o1kiH - -
MR TIEEY]me/L 0.1LLF - - —| 001K - - - - —| 001K = =
Afiva Lt E%Img/L 05LLF - - S - - - - o LES - -
HEEVIEEW|me/L 0.1LLF - - — [ 0005k - - - - — [ 00055k - -
KEBRUTILFIL
7J<£E%1€>Aﬁ*ig>7kﬁﬁ mg/L  |0.005LLTF - - — | 0.0o0s#i - - - - — | 00005k - -
F53FRRMEEMmg/L 10LLF - - -1 0.06 - - - - -1 0.06 - -
SoRBRUMEEMImg/L 8L - - —[0.15%kiH - - - - BRES - -

AR H - — - [7A48] - - - - - [1A9B] - -

4 [FVERIERER
(F2EAE 68, 128)
STE0Ox% | Bfu |48 |68 |68 | 7B [ 8H | 9A |10A|11H[12B] 1B [ 2A | 3H

fi(,\l:/u}EJE g/MmN - — [ootowiE| - - - 0.043 - - -
REBIEYERE]ppm - - |1kl - - - - - 2.0 - - -
ZXBRIEMEE]|ppm - - 18 - - - - - 14 - - -

FRERH - - |6A6H - - - - - |12858 — — _




5 £LRKESHHER

(FE3MEAIE 58.98.18)
[ STEDx% | By |48 | 5H 64 | 78 [ 8A | OH [10A[11A[12A] 1A | 2H | 31
KFAT2EE]|pH - 6.6] - - - 171 - - - 8.2 - -
EMFHBRERE|mg/L - [4300] - - - [1,200] - - - | 3400 - -
2B EERZ|mg/L - 9,900( - - - 1,600 - - - 2,600 - -
EEDES |me/L - [23000] - - - | 4500 - - - [8800] - -
Exsa= |mg/L - [2900] - - - [1,100] - - - [1500] - -
HEF=E  |me/L - 480 - - - 200 - - - 170] - -
REZEY |meg/L - [24000] - - - 4600 - - — [13,000] - -
SREVERY |me/L - - - - (2700 - - - [ 3200] - -
#ERB| - [5898] - - - |e9gsA| - - - |1A9A| - -
6 FREtEKESHER
(ZF30AE 58.98.18) _ _ _ _ _ _ _ _ _ _ _
StEOxE | BEfu |48 [5H [6A |78 | 8A | 9A [10A[11HA[12H] 1A | 2A | 3H
KEAFEE|pH - 6.6] - - - 80| - - - 8.7 - -
EMEnBRERE|mg/L - 14300 - - - 470 - - - [1,400] - -
2B EERZ|mg/L - 9,900 - - - 7101 - - - 790 - -
FHEMEE |me/L - [23,000] - - - 410 - - - 600 - -
Z2x=28= |mg/L - 2900 - - - 1,500 - - - 1,200] - -
Hafs |me/L - 480] - - - 190 - - - 160] - -
REZREBY |me/L - |24000] - - - 3900 - - - [4800] - -
REVEREEY |me/L — - - - | 2900 - - - [3400] - -
#EERAE] - [58%8] - - - [ogsA|] - - - [1AeB| - -
7 BRKFBRBHSER
(E1EAIE 6H) _ __
H=0xR | B |48 |SH | 6B | 7H | 8B | 98 |[10A[11A|12A| 1A | 2A | 3A
7LFILKERIEEWmg/ L - —  Jooooskam| - - - - - - - - -
KEEXIFIEEW|meg/L - —  [oovoska| - - - - - - - - -
LR e EH[mg/L - - |oooskm| - - - — — — — - -
X (FIEEW|me/L - — [oorxm[ - - - - - - - - -
HHIEEEY|me/L - i LA - - - - - - - -
ANE/OLEEYImg/L - - [ootkiE[ - - - - - - - - -
MEXFEEY|me/L - [ = Joeosww| - | - - [ -1 -1 -1-1-1-
T AL EY [me/L - - lorx@[ - - - - - - - - -
RUEIETz= )L mg/L - —  |ooooskm| — - - - - - - - -
koo FLU|me/L - — |ooskiE| - - - - - - - - -
ThIoaRTFLYImg/L - - |oorwi| - - - - - - - - -
>oBa0aX522 mg/L - - ook - - - - - - - - -
mig{bxE |me/L - —  |oooakm| - - - — — — — — -
1,2->48a0x4>|mg/L - —  |oooskim| - - - - - - - - -
1,1->90aI4  mg/L - - |oo2kE| - - - - - - - - -
Ya-1,2-Y"9a01Fbymg/L - —  looaxkm| - — — - - - - - -
1,1,1-pJ90014v|mg/L - - o3k - - - - - - _ _ -
1,1,2-M)40014Y|mg/L - — Joovskiw| - - — _ - Z - = -
1,3-"9007°0A v mg/L - — ooz - - - - - - - - -
F5L  [mg/L - —  |oooskim| — - - - - - - - -
T |me/L - — [ooosxm| - - - - - - - = =
FARU AL T mg/L - — [oozkm| - - - - - - - - -
ROET  |mg/L - — |ootxE| - - - - - - - - -
Lo XFEaW|mg/L - - |oooskm|[ - - - - - - - - -
1,4-DA4FH 2 mg/L - - |ooskim| - - - - - - - - -
HERBE] - - |eBeR| - - - - - - - - -




